Fixed Type Speed Control Valve (Production upon order)

Constant Flow Speed Controller

B This speed controller fixes the operation speed of a
driving device.
B The Constant Flow Speed Controller is best suited
for use with massproduced dedicated machines.
B Flow is controlled by fixed orifice.  Select the
optimum 1.D. of the orifice from the control flow Elastic sleeve
. (nitrile rubber)
characteristics on page 203.

Specification Diaphram
(nitrile rubber)

Tube

Release ring
(polyacetal)

Lock claw (Stainless steel)

Matalic body
(nickel-plated brass)

Fluid admitted Air

Service pressure range 0~150psi | 0~ 0.9MPa
Check valve operating pressure| 7.25psi 0.05MPa
Service temperature range | 32~140°F 0~ 60°C

Model Designation (Example

}
(D) Type / (4)Control direction
(2)Tube dia. A : Meter-out control (Inscription "A" in Matalic body)
: B : Meter-in control (Inscription "B" in Matalic bod
mm Size " ( p y)
Code 4 6 8 (5)Oritice I.D. (mm) =<
Size(mm) 03 Oritice .0.(Code)] 0.3 | 0.4 | 0.5 | 0.6 | 0.7 | 0.8 [ 0.9 | 1.0 | 1.1
_ Ryg | O O]O]OO0OO0O]O0]0| 0
(3)Thread size ™ _ R4 |O|O|O|Oo|o|o|0o]0o]0O
Taper pipe thread
Code 01 02 Oritice 1.D.(Code)] 1.2 | 1.3 | 1.4 |15 |16 | 1.7 18|19 2.0
Size R1/8 R1/4 Rig O 0100 -]-]-/-]-
R1/4 OO0 00000 ]0]0
*Production upon order
*Meter-out control *Meter-in control
Il The flow rate of air entering from the thread side can be controlled, whereas air entering M The flow rate of air entering from the joint side can be controlled, whereas air entering
from the joint side comes out of the thread side at the same (not controlled) flow rate. from the thread side comes out of the joint side at the same (not controlled) flow rate.
Free flow Free row

&\ Detailed Safety Instruction

Before using the PISCO device, be sure to read the "Safety Instructions”, "Common Safety Instructions for Products
Listed in This Manual" on pages 23~24 and "Common Safety Instructions for Controllers" on pages 167~168.

/\ Caution

1. Before use, be sure to confirm the orifice inside diameter marked on the hexagon part. A wrong orifice inside
diameter may change the speed of the actuator.

2. To achieve accurate speed control, select, by actual measurements, an optimal combination of orifice inside
diameter, cylinder type, loading and piping.
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How to select Orifice Inside Diameter

BWhen controlling the cylinder speed with a constant flow speed controller, determine the orifice inside diameter as follows:

(1)Using the following formula, obtain the air flow rate necessary for cylinder operation at desired speed.
(Formula for calculation of air flow rate)

D’xL “ P+1.03
t 1.03

Q=4.7 x 10°x

Q= air flow rate (N2 /min)
D=cylinder I.D. (mm)
L=cylinder stroke (mm)

t=time for one-way stroke (sec)
P=working pressure (kgf/cm?)

(2)Using the graph of control flow (flow characteristics) on page 203, locate the intersecting point of flow rate and working pressure. Select
2 or 3 samples whose orifice 1.D. provides characteristcs closest to the above. Then choose the optimal model from actual measurements.

(Example,1)
D (Inside diam.)=25mm Control flow L9
L (Stroke)=60mm / o
t (Time)=0.1 sec 200 7 '
P (Pressure)=5kgf/cm?(A) / oL.7
Calculate the necessary air flow, using the formula of (1): /
Q=100N2/min (B) / o6
Find the inside diameter of the fixed orifice from Figl. 150 s
Inside diameter of fixed orifice=@l1.45mm (C) = VA " 45 @ g
The range of selection is : @1.6mm~@l.4mm § L4 =
5 3
*The formula of (1)does not take load on cylinder and g (8)100 /. Db §
air consumption in piping into consideration. [ /, % L2 E
oLl
Fig.2 shows a graphic representation of the calculation formula of (1). AT A oL
By use of the graph, the air flow rate can be obtained quite easily. 50 // A AT A 0.9
. : : A1 1 8
It is necessary, however,. to obtain t.he cylinder speed beforehand. 7 T g i
(Formula for calculation of cylinder speed) oo T w:ﬁ
g+ | +—1 | +—T [ | | @.5
g 1 — 1T~ |
v= L ——————— 93
t o 1 2 3 4 5 6 7
, P kgficm?)  (C)
V=cylinder speed (mm/sec) ressure[l(:ig_lc]m )

L=cylinder stroke (mm)
t=time for one-way stroke (sec)

(Example 2)

How to Use the Graph (Example)

Cylinder 1.D.=25mm (a)

Cylinder stroke=60mm

Time for one-way stroke=0.1sec (Cylinder speed:600mm/sec) (c)
Working pressure=5kgf/cm® (b)

Air flow rate=100N£/min

Determine the air flow, then the inside diameter of the Constant Flow Controller can be selected.
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cylinder I.D. (mm)

02

[Fig.2] Graph for calculation of required air flow of Air Cylinder

Cylinder Speed (mm/sec)
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Control Series Constant Flow Speed Controller

unit:mm
g Tube dia. Mass [Free flow Eff. a.
CAD Model @D R 8 B L o c H 9) (mm?)
raig P JKC4-01]] 4 |RUS| 8 |235|195| 10 | 11 | 10 | 95 | 31~35
) JKC 6-01[] RUS| 8 | 24 [195] 10 | ., | 10 | 85 | 3.9-46
0 KCe6020)| © [Rua| 11 |275]|215| 11 14 | 17 | 67~73
= K01l o |RuB| 8 | 30 | 26 | | oo |17 | 34-45
o JKC 8-02[] R4 | 11 | 33 | 27 ' 205 | 6.4-~7
|
44 BB |
- Orifice 1.D.
T H () @3 | ¢4 | @05 | ¢0.6 | ¢0.7 | ¢0.8 | @0.9 | ¢lL.0 | ¢Ll
I
< L R CO”"‘("rm’z)Eﬁ'a' 006 011 | 016 | 02 | 03 | 04 | 05 | 065 | 08
o O”(fr']:;;'D' o2 | ¢l.3 | ¢l4 | ¢l5 | ¢l6 | ¢lL7 | ¢l.8 | ¢L9 | @20
CO”“‘ZLT:‘;;VZ)E""&' 09 | 11 | 125 | 15 | 18 2 23 | 255 | 28
unit:mm
% Model Tut:;Ddla. R A B L o c E H M(Z?s Free(frI:)]\g1 2I)Eff. a.
Elbow E JKL4-01[]| 4 |Rus| 8 | 26 |265|105]| 15 | 17 | 10 |11.5| 3.1~35
"r c "%‘ JKL 6-01[ s |Rus| 8 [255/275[ 1 [ 112 [135] 39-46
JKL 6-02[] R1/4| 11 | 285|285 14 | 19 | 67~73
B e iy - R18| 8 |285]315 185| 3.4-~45
- [ 4% JKL8OIL]| o 15 1185 23 | 14
JKL 8-02[ R14| 11 |315]325 225| 64~7
-
® H Orifice 1.D
ririce 1.D.
- () @3 | @4 | @5 | 0.6 | ¢0.7 | ¢0.8 | 0.9 | ¢l.0 | ¢L1
<[
R
CO”"‘("anZ)Eﬁ'a‘ 006 | 011 | 016 | 02 0.3 0.4 05 | 065 | 0.8
L i O“gﬁfn;'D' o2 | @13 | @l4 | @5 | @l6 | L7 | ¢l.8 | L9 | @0
Comr?'r:]'om‘”z)Eﬁ'a' 0.9 11 | 125 | 15 18 2 23 | 255 | 28
FIOW Charactel’istiCS Control flow 92 @1.9 Free flow
/ o8 600
200 / 2500 .
/ ¢L.7 £ (L?,Q
7 S 400 &
¢L.6 ~
/ & 300 Qxfb"’\’&@/
2 o 2
150 @15 & 200 /
- _
z / -
SE o4 E g0
z 5
£ 1.3 o -1
§100 / /(p é 0 1 2 3 4 5 6 7
z / L2 O Pressure (kgflcm?)
o
=Lk
1 o1
5 / A AT A .9
T T A ¢0.8
7 AT w7
o 1T | lws
3
T T 1 ©.3
0 1 2 3 4 5 6 7

Pressure (kgflcm?)
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